
Horizontal Lifeline Components

32

www.superanchor.com    1-855-301-4575

Standard Rigging System
The rigging examples shown here are based on SAS standard Pass-Thru HLL systems as specified in our HLL Instruction/Specification 

manuals. “A” and “B”  HLL end designations are used for reference in rigging compatible components. All attachment bolts, lock nuts 
and PID labels are included. Note that No.1087-SA/SC couplers interchangeable. See Horizontal Lifeline Components catalog page.  

No.1058 HDG Turnbuckle
5/8”x3.0” Bolts

“A”end HLL  

End Anchors 
not included
 

9/16”x3.0” 
Use for 4-Way Tops

No.1087-SA or SC Couplers
3/8” x 1.0” Bolts      

No.1065-AS
Spring Energy Absorber

“A”- end Field Swage Components
3/8” galv.Eye Thimble w/3 galv. Cable Clamps 

5/8”x2.0” Bolt  

Galvanized Rigging Components 
No.1050-G Standard Rigging Example                   

No.1081-S Coupler
Compatible with 1090  Loop tops or 4-Way Top Fixtures. 

5/8”x
2-1/4” 
Bolt   “B” end Field Swage Components

3/8” galv. Eye Thimble w/3 galv. Cable Clamps

No.5010-SM
PPE Connector 

O-Rings

“B”end HLL  
5/8”x2.0” 

Bolt

                  Compatible HLL End Anchors                       Compatible Pass-Thru Anchors

Stainless Steel Rigging Components 
No.1051-S Standard Rigging Example             

“A”end HLL  

No.1058-S Turnbuckle
5/8”x3.0” Bolts 

CRA-Anchor
not included. 

9/16”x3.0” 
Use for 4-Way Tops

No.1087-SA or SC Couplers
3/8”x1.0” Bolts 

No.1065-AS
Spring Energy Absorber

“A”- end Field Swage Components
3/8” sst Eye Thimble w/3 sst Cable Clamps 

5/8”x2.0” Bolt  

No.1058-S Turnbuckle
5/8”x3.0” Bolts 

“B” end Field Swage Components
3/8” sst Eye Thimble w/3 sst Cable Clamps

No.5010-SM
PPE Connector 

O-Rings

“B”end HLL  
Note: Due to the reduced adjustment length, 2ea No.1058-S turnbuckles are required to rig sst HLL’s.  

Note: Other compatible models not shown here

           D-Plate               CRA                  CRZ           CRA-4                       CRA-PT                    CRZ-P                      D-Plate

Horizontal Lifeline Components


